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And @2''1 indeed prohibits it 7782772 as well

OVERVIEW

The X i cites a mwn which states that one may send a 77° with a v 723
embedded in it to a *7121. Seemingly this indicates that it is 7X172 9N (the PXW»
derives a certain benefit when the *121 accepts his gift), despite that it is written &?
7w T3 DR °"12190K%°, which according to 1728 ' indicates an nX17 M0°K. The R
answers that the Xin of this 71w» maintains that ayv 10112 7732 ¥° and the n°7 of
7221 includes the 2077 of 9. Indeed according to w2 who maintains 12 17732 PX
ovv and the 77°21 7077 does not apply to 1°7°3, the W37 7°3 is X172 MOX (and a PRW»
would not be permitted to offer it to a »331). mdOIN discusses why indeed it is
permitted to offer a w17 7°3 to a *121, despite various outstanding prohibitions.

— N 295 NONN 9930 79 NHVWNT XINNT YynRWnN

It seems that the 71wn of m21% 77° n2 W is according to ''7; for "3 maintains that
TWIT 772 is 7IXIT2 MOX and one is not permitted to send (the 77° with) a AwiT 793 to a °733, for the
OX7w° is deriving benefit from the 7°3 when the »121 accepts his gift.1

nooIN asks:
— YN J12 PNNY 1229 AYPN

The R''291 has a difficulty -
— (OWIN,5 97 NIV DAY NIVNT NIP P92 %Y 519N NN 229 N

For >''1 maintains in the first p9p of 1''y noon -
— 0N NMNN ONY 1Y MIYONT

That it is forbidden to give gentiles a free gift. How can he send the *731 the Awi7 73,
he is giving him a 0117 nin» which is MOX according to >"17?!

Mo0IN answers:
— 15 19919 NINY 2391 9N 199V 13N BN NN MR RNT 99 YN

And one can say; that it is said there, ‘if the 721 was his neighbor he is permitted

' See xnovm1 "7 2,0% 72117 MooIn that if a 3"7°) is X372 MK it is forbidden to send the 77> with the 7°3 embedded in
the 77° because it is a more respectable gift when the 77" is whole and unblemished.

% This is the same " of our (2,%2) X3 that 12053 0*127; only *121% 771 is permitted, not 7°n3. There in 1"V the Xn)
adds that according to *"1 there is also a W7 of 211n X7 (not only the 7wy of »121% MoM).

3 a"7 "9 1"y7 RNOOIN.

* When a neighbor receives a gift he generally reciprocates and sends an (equivalent or more impressive) gift in
return; therefore it is not considered a gift (from the YX7w°), but rather it is more like a sale.
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to give him a 017 nin» for it is like he is selling it to him.’ 1t will be necessary to qualify
this 7awn of 1212 77> N7 that it is discussing a case where the *121 was a 19¥ to the YR .

nooIn asks:
— 917 5395 SNN NN 199N YWIDNINT APY? 290 AYPN

The w''19%7I87 >''9 asked how is it possible that the 7awn of "2 X nW is
according to >''v?

— 13 2329 NON AWIN 19XT (3,7 porn) AWIN T9) P92 NPD NN NINY *29)
For >''% maintains in 72317 793 #92, that a w27 793 is forbidden to 72 %12 -

— 91290 )10 RS NY 5395 DIYM H3¥P)

And by sending the 7°3 to a >33, the sender transgresses the prohibition of = %1%
1N RY, etc. How does the mwn allow the YXw° to send a 7 (which is prohibited to a 11 12,
according to *"9) to the *1217?!

N1v0IN answers:
— NPT APY? 2320 NON YONRP NYT 27191 NYUP DT PNYY 13939 99IN)

And the >''5 answers that there is no difficulty at all, for the 7°3 was not prohibited
to all the 11 °12 but rather it was prohibited only to the descendents of 27y -
= NI M INIPIN NN 1PN ONPT

who were referred to before 7910 0% as 13 512, When >" ruled that 7°3 is 171 °32% 710X he
meant the >"12 before n"n.

mooIn proves his point that the M0°X is only for °"12 and not for ordinary 11 °12 -
— %5302 NP’ NY NNT

for the prohibition against 71w 7°3 was not repeated at >ro 17. It is only mentioned
once in 17w nwI, when the incident between 2p3° and the Angel happened.

mooIn asks:

PPN NNID NOIN IVIND NYT 799 NIPADT PYAY 3919 NOPINY SWPIN 9NN ON)
And if you will say; let us challenge 7>t from 2''5 who maintains that X'
Y9281 means IR MON also.

— NVIN T FORMN

Since " prohibits deriving X317 from w327 793, The MoX of 7w 3 is derived from
the words 175%° X? which according to P11 refers only to 719°9% M10°K, while ¥"9 maintains that it
includes X7 M0°% as well.

> See “Thinking it over # 1.
6 7" states in X,b1 17730 that any m¥» that was stated before " and not repeated at >0 was meant only for the
°"12., and the [only] example of this is 77w 7°3; indicating that the w37 7°3 MoK is only for 2py° °12.
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Mo0IN answers:
— 990N 2133 ANIND ION 197 NI NI2D DYV 152 177913 PN 9204 1199 91990 W

And one can say; since "7 maintains that there is no taste in °7°3 (sinews),
therefore it is logical to assume the since the 7710 prohibits it, it also prohibits

deriving benefit from the 173 -

—"nYraN 152 NIIY NYT
for the concept of eating is not applicable to P73, since they are not oyv 1M33. In this
case P would also agree that the 175%° X which is written by w17 7°) (only), means IR17 MO
as well (since there is no real 72°OX by 77°3).

mooIn offers an alternate solution:
— A1 %295 NYN PIYNY 295 920 XY 1PN NI ON

Or you may also say that indeed 2 does not agree with w''s but rather he
agrees with >''9 -
— 59581 9399 NYPIN NINN NY 2133 NNINIYT
For seemingly we must also assume that ;3?7 is not in accordance with »'' -
= 19523 YWY TPIVNINTN DIYY )7 RVIYD 9NN 29Y7
For according to »''1 it was previously obvious that since it was necessary to

permit deriving 7X377 from a 579923, this teaches us-
— NN DYON DINDIN YT
that all other 2991998 are 7IR37T2 TON and this contradicts the view of mpin. Just as it is

possible that 7°p1n disagrees with »"7, we can say that he also disagrees with ", and agrees
(only) with >"9.

modoIN supports this contention that 7°P117 cannot agree with »n"9:
— 1192231 9 NN 22957 NIIHND 1190 RVIWD 13399 NXINN 299 22) (3,5 9m 1IPY 19)

And similarly later concerning where one of the students was sitting before
11 72 W', it was apparent to the X9%3 that »''s derives 7X17 710°X by all
0° 0K from 79921, Obviously he disagrees with °pin.

mooIn resolves an anticipated difficulty with his contention that 7°p1n cannot be in accordance
with all the a°Xin:
- "3 'x10Y *ynph mNpT XM

7 When a food item has a oyb, and the 7790 writes 79Xn XY it means only eating (according to °pir). However by a
73 which has no ayv (according to w"9) it is logical to assume that when the 7710 writes 172%° X7 it does not mean
only eating, but rather any type of consumption from which one derives a benefit. See 2w 227 for additional
explanations. See ‘Thinking it over’ # 2.

¥ See however >"w1 on X1 "7 '2 7y, and see X"w17n here why mioown disagrees with >"w.
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And that which the X773 stated later, ‘let us say that this issue is dependent on

the disputes of 2°Rin, indicating that we will refute this assumption and realize that all parties
agree with all 2°X1n; not as MSOIN maintains.

mooIn responds:
:NIYY N9I SN 581 NY 7PNt anan sa95 13991

That °Xi1n> &n°% was referring only to KX''% (that his view may depend on the
disputation of 2°X1n [and this is ultimately rejected for X"9 can agree with all 2°Xin

as the 81m1 there'” concludes]) but %717 can certainly not agree with everyone!
711 definitely disagrees with 2"9 and possibly also with w"-.

SUMMARY

The mwn of 131 >121% 77° 7R 1w follows the view of > that avy 012 P32 .
There is no concern of ninn XY if the " is a 19w for the gift is really a sale. The
7w 773 10X was always only for the °"12 (who are referred to before n"7 as 11 °12).
7P may agree with w"9 that there is an nX17 MO°X by 73 (even though it says &?
195%°) since there cannot be 77°5% by a 7°3. Alternately m°pin disagrees with w'"- just
as he disagrees with n"1 (he agrees [only] with >"9).

THINKING IT OVER

1. After m»poIn established that the mawn of "1 07X MW is according to °"9, the "9
w"1°5Rn asked how can it go according to "1 since he maintains that m1 °12 are
732 MOX. Seemingly he could have asked a stronger question; how can the X773
claim 77921 7MW the 7M7 77°3 X7, since the 7109 which states Ivwa WK 35
"3 7Inn cannot be referring to 73, since ™3 are 7°32 070X and the 98w will be
9219 on My *15! "

2. According to mo0IN that since Oy 132 1732 PR, therefore P agrees that &
1908 refers to 1R17 since 72°R %2 XO»W XY7, so why did not the 770 write 17 XY
instead of 193x> x521'

7 ),

10°See “‘Overview’ to xn*» 7"7 X,X2 Mo, where it mentions that generally the term X»°% indicates that the contention
will ultimately be refuted.

' See also *"w1 there X 7"72 (X,33).

12930.

B o"wi 193, See i K and 2.

1 See n"x.
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